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What is an ISP? 
 
 
 

Hard Drives, Tapes and Floppy Disks 
all use which type of storage 
technology? 
 
 

What will be the difference 
between a sound file  sampled at 
1000 times per second compared 
to a sound file sampled at 10000 
times per second? 
 
 
 

"Trying to bring down a website by 
using up its web server’s resources, 
by overloading it with traffic". Which 
threat is being described here? 
 
 
 

“Executing one of several 
instructions depending on a 
condition” is a description of which 
programming construct? 
 
 
 

Which type of operator will enable 
a program to carry out 
mathematical calculations? 
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What is an ISP? 
 
 
The company that provides 

a connection to the 
internet. It stands for Internet 

Service Provider. 

Hard Drives, Tapes and Floppy Disks 
all use which type of storage 
technology? 
 
 
 

Magnetic 

What will be the difference 
between a sound file  sampled at 
1000 times per second compared 
to a sound file sampled at 10000 
times per second? 
 
 

The file sampled at 1000 
times per second will be 

lower in sound quality and 
have a smaller file size. 

"Trying to bring down a website by 
using up its web server’s resources, 
by overloading it with traffic". Which 
threat is being described here? 
 
 

Denial of Service 
Attacks 

“Executing one of several 
instructions depending on a 
condition” is a description of which 
programming construct? 
 
 

Selection 

Which type of operator will enable 
a program to carry out 
mathematical calculations? 
 
 
 

Arithmetic Operators 

 


